5/20/2015 Print Test

PRINTABLE VERSION

Quiz 6
You scored 100 out of 100
Question 1
Your answer is CORRECT.
In right triangle 4ABC, with right angle C, 4B =11, and BC =4. Find the length of the missing side.
> N
a) O 2105 " 4%g 1>
J -l
@ J 103 ¢
] ﬂ %"‘. oS
C
) @ 24137 “+ Yz Jios
d) J 157
f)  None of the above.
Question 2
Your answer 1s CORRECT.
In right triangle 4ABC, with right angle C, AC =12, and BC = 6. Find the length of the missing side.
A
a) 342 122+ 6% c*
\> <
-, 2
55 4t +3=¢c
g ] cd
> = |80
0 0 1243 N P
c=Jlgo = \r 36.5
d o 1243 > W5
e) & ﬁ

f)  None of the above.
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Question 3
Your answer 1s CORRECT.

In right triangle ABC, AB="7. Find x.

b) 14

¢) 7 ﬁ

a0 V3
N

e) 2

f)  None of the above.

Question 4

Your answer 1s CORRECT.

Right triangle ABC is shown below. If AC =113, find x.

B

a) 22

https:/iwww .casa.uh.edu/C ourseWare2008/R oot/Pages/CW/Users/Student/Grades/PrintTest.htm

4S:45:9

O-&\rz_.a.

Y

o
]

4s:46:90
& a Jzao
W3 i3 X

= N3
X Vzo
X = Nz (W3)
X2 e

2111



5/20/2015 Print Test

‘D’ 116
c) 3342

d o 1142
e) 223

f)  None of the above.

Question 5
Your answer 1s CORRECT.
In the figure below, an altitude 1s drawn to the base of equilateral triangle ABC. If AC =8, find a
and b. 30 0! 90
¢ (3a 2a
4 ¢ 8
26.=8
G224

c:Jaa
cz 4Jz

o)  a=k=42

f)  None of the above.

Question 6
Your answer 1s CORRECT.
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In the figure below, an altitude is drawn to the base of equilateral triangle ABC. If AC =5, find c,

the length of the altitude.

A
< 30%30 I~
e
60° W 60°
C
B a b

a) g=5yl3
c=2 2

b) 2

0 =102
pe T

d) 3
c=23

®

f)  None of the above.

Question 7

Your answer 1s CORRECT.
Given triangle ABC as shown below. It AC =12, find xand y.

~ - gV3
3 = ¥¥J3 Xz 8
30°
X
2
B C

ay  1x=12V2,y=12}
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by 0 {x=12{3,y=383]
® (x=83,y=43]}
4 (x=24.y=243}

o {x=43,y=373)

f)  None of the above.

Question 8
Your answer 1s CORRECT.
Right triangle ABC is shown below. If AB=442, find x and y.
30: Lo: 90
x & {3a 20
42
60° X oy G
X
gy /8
c . B 2ez4ix X

as 20T X =242

f)  None of the above.

Question 9

Your answer 1s CORRECT.

Given triangle DEF as shown below. If DF =26 and EF =24, find sin(D) and tan(F).
Note: The triangle may not be drawn to scale.
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(k=

. . 2 S\n(0) = ﬂ: ‘Ts"
Y ra4°®= 2, D 20 26
Y*: oH- 6T Y bon (FY= 2 - 5
24 12
'3;"'” E 24 F

y=lo

) sin@)="43. tan(F)="%
b)  sin@)="12. tanF)= "3
) sin@)="%2, tan(F)="%
@D © sin®)="45, tanF)="12

) sin®)="42, tan(F)="12

f)  None of the above.

Question 10

Your answer 1s CORRECT.
Suppose that 0 is an acute angle of a right triangle and tan(0) = 4\/5/5 . Find sin(0) and cos(0).
sn(0) =L VT cos(0) = L /57 (HD) *+s% >
2 ’ 42 c 32425=¢2
()= -2 112 10 == =\
b) sin (@) = = J 114 | cos(0) = J 57 n e C S3
s
sin (8) = ;‘—? JTIZ cos(8) = % S5
© : sing= V=I5 . A
in(0)= 2 VT cos(0) = > T s+ V> %
d) ) ’ 8
osa= 2 Vs . sdss
| sm{e}=%gﬁ cos(8) = ;—?JW (s= Vs s
e )

f)  None of the above.

Question 11
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Your answer 1s CORRECT.

Print Test

Suppose that 0 is an acute angle of a right triangle and that sec(0) = 13/7. Find csc(0) and tan(0).

2 122
csc{9}=£m tan{ﬁ]=;—0m '3 5 +1=13
a) >
Y 'a,': L9 -49
-2 - >
b csc(0) = : m 71:5111{9] E m - A l} > 10
csc{ﬁ]=£m tan{ﬁ}—gm ! 3= e
@ 60 ’ 7 4z 2 3o
T 13
N cse(8) = — m,t (6) =230 cscg= A3 = 13V3s
2V3o bo
2 _ 2 NEY
N csc(0) = E J 30 ’tan{ﬁ} 5 J 30 1‘&!\.6‘ 2J 30
?—
f)  None of the above.
Question 12
Your answer is CORRECT.
Convert the following degree measure to radians: 240°.
I 240. T =244 W - 4
(F- ) | 3
0
ORE
e) 37'[/2
f) =~ None of the above.
Question 13
Your answer 1s CORRECT.

Convert the following radian measure to degrees: 147':/1 5
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a)  336° H,#.m - 1412 = [L8°
b 2700°, s x

(o) © 168°

d)  42°

e) 5600/3

f)  None of the above.

Question 14
Your answer 1s CORRECT.

To find the length of the arc of a circle, think of the arc length as simply a fraction of the
circumference of the circle. If the central angle 0 defining the arc 1s given in degrees, then the arc

length can be found using the formula:

Use the formula above to find the arc length s, where 6 =45° and r=9cm.

a) 78 em S= 4S .211'(4) = h

300 L
b)  810m cm
¢) 97t/2 cm
@ 9n/4 cm
¢) 9n/16 cm
f)  None of the above.
Question 15
Your answer 1s CORRECT.

If the central angle 0 defining the arc is given in radians rather than degrees, then the arc length can
be found using the formula:
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£

b

g =

-27r  which simplifies to s =#&

bt

Use the formula above to find the arc length s, where 6= 4“/3 and r=6yd.

) 2880 yd
a ' s= % (am)le)
21T

b)  4n yd

c) 2n yd S - ﬂn‘ L‘er) - 8.1-
T

8 yd

e) lém yd

f) = None of the above.

Question 16
Your answer 1s CORRECT.

Find the perimeter of a sector of a circle with central angle 6 = 3 %5 and radius 8 ft.

a) (8+121) ft P=rerts= 24, ¢

b)  (16+24n) ft

@ (16+121) ft

d) 16 ft

s P=a1®dtlar
P=(lo+ 12m) £+

e) 12z fi 6:=3
r

f)  Noneoftheabove. S=vO = 8( E‘E) = 4037)=)aiT

Question 17
Your answer 1s CORRECT.

To find the area of a sector of a circle, think of the sector as simply a fraction of the circle. If the
central angle 8 defining the sector is given in degrees, then the area of the sector can be found using

the formula:

a
d’i:—-fl_l-'-r

360°
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Use the formula above to find the area of the sector, where 8 =225° and r=7 cm.

ASZES (3= FLaT = 295 L
Jwo 8
b) 2457t/4 cm2
¢) 35n/8 cm2
d P % em’
e) 3»511/2 sz

f)  None of the above.

Question 18
Your answer 1s CORRECT.

A sector of a circle has central angle 0 ="/ and area 497[/6 ft2. Find the radius of the circle.

a) hq A-= ';'r"a
™
b 4 fi 49T - -,I_-("z)(J)
o
@ 7 ft qq“_.: % f‘l.
d 14 fi L
e 28 fi 949=r*
r= 3%

f) ~ None of the above.

Question 19
Your answer 1s CORRECT.
A car has wheels with a 8 inch radius. If each wheel’s rate of turn is 5 revolutions per second, find the

angular speed in units of radians/second.

a)  40m S rev 2w = lomr
\ reJ
107
¢) Sm
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d)

e)

f) =~ None of the above.

57r/2

5
47

Question 20

Your answer 1s CORRECT.

A car has wheels with a 11 inch radius. If each wheel’s rate of turn is 5 revolutions per second, how

Print Test

fast is the car moving in units of inches/sec?

a)
b)
¢)

d)

O

f)  None of the above.

1ln
/5

227

55m

5
11

110%

lsreusJ 2T
\ rev

(lon) (W) = llom
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